Folding Mirrors P/N:12027
Fits: 1-7/8” - 2” Tubing

Includes:
1. (2) Folding Mirrors (Passenger and Drivers Side)

Hardware:

1. (2) Mounting Brackets (two pc’s per bracket)
2. (4)1/47-20 x 1” Flange Head Bolt— Black

3. (4) 1/4” Flat Washers

4. (4) 1/4” Nylon Nuts

5. (2) 1/8 x 1”7 x 5-3/4” Long Adhesive Backed Foam Strip
6. (1) Logo Sticker

Installation:

1. Loosen the ball joint and install bolts as shown in figure 1.

2. Ifyou are mounting brackets to a 1-7/8” diameter tube you [
will have to use the foam strips. Stick the foam strips to
the cage where you will be mounting the brackets.

3. Install the brackets as shown.

4. Adjust mirrors and tighten both ball joint and mounting
bolts.

Folding Mirrors P/N:12027
Fits: 1-7/8” - 2” Tubing

Includes:
1. (2) Folding Mirrors (Passenger and Drivers Side)

Hardware:

1. (2) Mounting Brackets (two pc’s per bracket)

2. (4) 1/47-20 x 1” Flange Head Bolt— Black

3. (4) 1/4” Flat Washers

4. (4) 1/4” Nylon Nuts

5. (2) 1/8 x 1”7 x 5-3/4” Long Adhesive Backed Foam Strip
6. (1) Logo Sticker

Installation:

Loosen the ball joint and install bolts as shown in figure 1.

N —
—
=
<
Q
[
o
=
[¢)]
=
o
=1
2.
=
aQ
(=8
=
fov)
[e]
=~
[¢]
=
7]
=
o
jov)
—
1
=
~
*x
o
=
5
[¢]
=
[¢]
=
=
=
o
[¢)]
<
o
=

will have to use the foam strips. Stick the foam strips to

the cage where you will be mounting the brackets.

Install the brackets as shown.

4. Adjust mirrors and tighten both ball joint and mounting
bolts.

W

Folding Mirrors P/N:12027
Fits: 1-7/8” - 2” Tubing

Includes:
1. (2) Folding Mirrors (Passenger and Drivers Side)

Hardware:

1. (2) Mounting Brackets (two pc’s per bracket)

2. (4)1/47-20 x 1” Flange Head Bolt— Black
3. (4) 1/4” Flat Washers
4. (4) 1/4” Nylon Nuts
5. (2) 1/8 x 17 x 5-3/4” Long Adhesive Backed Foam Strip
6. (1) Logo Sticker
Installation:

1. Loosen the ball joint and install bolts as shown in figure 1.
2

will have to use the foam strips. Stick the foam strips to

the cage where you will be mounting the brackets.

Install the brackets as shown.

4. Adjust mirrors and tighten both ball joint and mounting
bolts.

W

Folding Mirrors P/N:12027
Fits: 1-7/8” - 2” Tubing

Includes:
1. (2) Folding Mirrors (Passenger and Drivers Side)

Hardware:

1. (2) Mounting Brackets (two pc’s per bracket)

2. (4) 1/47-20 x 1” Flange Head Bolt— Black

3. (4) 1/4” Flat Washers

4. (4) 1/4” Nylon Nuts

5. (2) 1/8 x 1”7 x 5-3/4” Long Adhesive Backed Foam Strip
6. (1) Logo Sticker

Installation:

Loosen the ball joint and install bolts as shown in figure 1.

N —
—
-
<
]
=
=
(¢}
g
c
2.
=
aQ
o
=
o
o
=~
a
=
©n
=
o
o
—
1
=
~
*
o
=
o
=
[¢]
=
[¢]
=
=]
o
[¢)]
<
o
=

will have to use the foam strips. Stick the foam strips to

the cage where you will be mounting the brackets.

Install the brackets as shown.

4. Adjust mirrors and tighten both ball joint and mounting
bolts.

W




